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Math 10/11 Enriched Section 5.5 Combined Transformations

1. The point (6,12) is on the graph of y = f (X) . What point must be on the graph of each of the following:

a) y=3f(x-2)+4

b)y—5=f(3x-6)

-1

- - d) y=
oy 4f(3 X)+7 )y f(x+3)+8
)|t f)y=f7(x
7y ‘f(2x)+7 )
g)y= f(|x|) h) 2x = f(3y)

2. Thegraphof y= (X — 2)2 —lrepresents y = f (X) What are the coordinates of the point(s) that would be

invariant for the following transformations?

a) y=f(-x) b) y=—"f(x)
) x=f(y) dy = f(4x)

1 ==f(x
e)Y=f(X) f)y==1(x)
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3. Giventhegraphof y=f (X) , draw the graph of the following functions:

a) y=2f(2x) b) y=f(2x-1)
y=f(x)
/)
A N : :
JAEA
c) y=05f(x)+1 d)x = f (2x) fy="f(x)
g) y=2f(2x-1)-1 h) y=f([2x]) i) y=-2|f(3x-1)

4. Point (e,f) is on the graph of y = f (X) , what point must be on the following functions:

a)y:—%f(x—S) b) y=
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5. Given the graphof y = f (X) on top, what is the equation of the corresponding graph below:

b) L. c)
_ A\ AT \
—y=f*TVTIN y=1(x) v=1(x)

6. What is the period of y =sin 272'(X) ?

7. The graph of Yy =C0SX is transformedto y = COS(ZX +8) , What are the transformations involved? Indicate

all transformations in order.

8. Thegraphof y= \/; is transformed to ¥ =+/5—3X, what are the transformations involved? Indicate all

transformations in order.
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+4 , what are the transformations involved? Indicate all

1
9. The graph of Yy =— istransformedto y=3
X 2x+4

transformations in order.

10. The function Y = 4X® +4x+1is shifted three units right to become y = (2X - k)2 . What is the value of “k”?

1
11. Part of the graph for y = f (X) isshown, 0<x<2. If g(x+2) :E f (X) for all real values of “x”, draw the

graph of g (X) for the intervals —2< X <0 and 2<X<6.
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12. Challenge: if X :% then the value of the product: (1+ X)(1+ Xz)(l+ X4)>< ..... X (l+ in‘l)x ...x(1+ Xm) is

2 - 2k . What |S the Value Of ”k”? CNML1994 4-6
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